RiEAta R = QUA[TE TN
(R1ES) (R1E28) (LigetiE) #H=E)
12392 fERIMBESEIEIRME (T H) B 9H,2,3 A= 9:00712:00 2308
12391 {ERIMERETZIEM (W H) ESH 2k1,2,3 A= 9:00712:00 2309
12390 ERIMBSEEIRRE (TH) & 9H,2,3 A= 9:00712:00 2310
12389 ERIMEREIBIEM (WH) Fik 2t1,2,3 A= 9:00712:00 2306
12388 YERIMESETEIRM (W) PR 2H,2,3 A= 9:00712:00 2304
12387 ERIMBSEIEIRME () ¥1% 941,2,3 A= 9:00712:00 2303
12421 ERIMESEFHE (O8) B85S 41,23 FE— 9:00712:00 2310
12398 YERSMBEEIETIS (O1B) BS U 1,2,3 FB— 9:00712:00 2309
12397 ERSMBEENETI® (OB 52 1,23 E— 9:00712:00 2302
12396 fERIMESEIE IS (O8) R 1,23 JA— 9:00712:00 2304
12395 ERSMBEEIEIS (OB TR 1,23 Fl— 9:00712:00 2303
12394 fERIMESEIE IS (O8) ¥R 1,23 JA— 9:00712:00 2308
12393 fERIMESEIE IS (O8) ¥R 1,23 JA— 9:00712:00 2307
12404 {ERIMBESEIEFIEIERE (FI%) 1BSM £1,2,3 A= 9:00712:00 2309
12403 ERIMBSEIE ISR (FIE) B 1,23 E= 9:00712:00 2308
12402 fERIMESEIBRIZIER (RI%R) 5K +1,2,3 A= 9:00712:00 2307
12401 YERIMETEIE RISIRMR (FiE) PR 1,23 = 9:00712:00 2306
12400 YERIMEBEEIE RISIRMR (7)) & 21,23 E= 9:00712:00 2304
12399 {ERIMBEEIEIRIEIRM (RIE) 1% 21,2,3 E= 9:00712:00 2303
12410 fERIMERETERIL (BE) EFM =1,2,3 AP 9:00712:00 2309
12409 EARIMBSEIERIE (B1E) 1BSM =123 FEPY 9:00712:00 2308
12408 fERIMEHEIBRIL (B1E) SR =123 AP 9:00712:00 2307
12407 ERIMBBEERIE (B1E) PR =123 FEPY 9:00712:00 2306
12406 fERIMEHEIBERIL (B1E) Lk =123 AP 9:00712:00 2304
12405 fERIMEHEIBRIL (BIE) HIRK =123 AP 9:00712:00 2303




